G‘—O‘IIU

=} [1/GeV]

3

-
<
N

d? {ptT’l cdot

1
dad

|

S

107°

[EEY

Ratio to ATLAS

0.5

13000 GeV pp tt
u - T - T : | | ' | ' | T iz
c
top Qo
(ATLAS ttbar) 3
I T ]
— —H=
— m ATLAS _ g
| ---=-- Pythia 6.428 359 Jn
— —4— Pythia 6.428 370 — S!
— Pythia 6.428 a — ;
| ---v-- Pythia 6.428 dw 2
—o— Pythia 6.428 p0 =
----- ¥ Pythia 6.428 pros
u Jo
™
— A<
(40)
L o
o
(49)
- —
X
S,
— —] c
- Jo
= <
B - O
- 0
)
i 129
— |
(&)
| . . . . | . . | E
:| T T T T [ T T |:
= 32
1
N —0.5
| 1 1 1 1 " | " 1 1 " |
0 500 1000



	Contents
	Page 1


